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BEARRLEE (%) (B#8) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
$ & EIRE" (%)
FIRZ R GEER) (%) 99.9 100.1 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
BEINZLEERGEER) (%) 100.2 100.3 100.8 100.1 100.2 100.1 100.1 100.1 100.1 100.1
EFEINZEEEGEEA) (%) 81.7 81.6 72.5 74.6 83.2 83.7 86.3 87.4 87.7 88.2
REXESLERGEER) (%) (Fi8) -0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
URES AU 3 b 3R GRIEE ) (%) (Fi8)
N & 3 (35
;;ﬁg%ﬁﬁ%’%ﬁ)mi (%) (Fi8) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
) 7.
IRIEEIURA 5 (%) 10.3 9.7 18.4 17.6 19.3 18.8 16.2 15.2 14.9 14.3
SHEERNBEAR (%) 10.2 9.7 13.6 8.9 19.3 18.8 16.2 15.2 14.9 14.3
& SHEENEAR (%) 0.1 0.0 48 8.8 0.0 0.0 0.0 0.0 0.0 0.0
A SHEHSIAILH LT A=@AE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
& S5 FRFHTAMELD (%) 0.1 0.0 48 8.8 0.0 0.0 0.0 0.0 0.0 0.0
L ERERAS (%) 34.6 100.0 100.0 100.0 50.0 100.0 100.0 100.0 100.0 100.0
= SHEERNBAER (%) 34.6 100.0 100.0 100.0 50.0 100.0 100.0 100.0 100.0 100.0
SHEENEASR (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
55 FRFHTANELD (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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(1) BEFRLE (%)

7 BAKRECRGERACEOBEE=MANBIERTIEIERE1RICKYEELL-ESOTRRE (EXNE—ZFEIFHRE) X100

e

(2) #INZLEE (%) =R HBERAX100
(3) BEINZLILE (%) =RFBINE BEEEMAX 100
4) BEFERFZHE (%) = (BERE-FAITBRE) ~ (EEER-FEIEER) x100
(5) REREBEELE (%) =RBEXES (BENREFE-ZFEIBNE) x100
(6) IRZEEUIRZ LR (%) =#UNEE. (RER+HAHEEES) x100

(N FTEREBLER(RFFFLE) (%) =FREH (REFEREFRFH / (BERRHE-IFEIENE) x100

WANECEEZFEALEDSEE=AUBIEETSENEE1HICLYEELLEEOTRE (BEERE—ZFEIFHNE) x100

(8) MARLEE (%) =IHMNIRAICET 2BEHEAS (RITEXRMINAIZET 2 RASR) AIEMRA (RIFEAMIRA) x100
2 LEEEDCSS THEEUE] (X, KEEE (FHKEBEEE8T) . TEAKESERVUTKESEE (TKEBZICH > TIEERAMEURE) ITOVWTEHT I L,
(1) KEBE., TERAKEBEICRIHPEONEORE LS
- HEREIRE (%) =HHBE X HBKEREMX2x 100
X1 HREM (A m) =#KIREERBEFRKE (TERAKESECH>TITHEETEIZERDI D)

¥2 #AKERME (A/m) = (BREEA— (FRIFEFHFHEVTARKSHRE+MESEEIHERNBRAS KESZEDOH))) /FHRBREIUKE (TZERKESEICH>TITHESEEIZRDI L D)
BL., BEKEEZIZODVWTETRIZEDBDET D,

T
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(2 FREFRIZFRLIEMHEREOREHFE X
- EAMEBURE (%) =FERBIRAEKLEEX 100

WHNECEEBACEDNSE= BEEA- (FRIFE+MHRUTASTHEM+HHEEEE+EENBRAS HRMENE) +EB/EES) FHRRBERKE
WAHRNECREFERACRDEE= REA— (FRIFE+EENRAD) +HABEES) FRHEAIKE



